»P.686 »P.740 »P.740 651

\—2H ST = sE 5| RoHS {@
YAV 2168 |00
BXO—>—®Fryatr—&UTTERVEREIFFRY,
RO
B :mm
L3
L
| L1 ~
- HERILE S
; 3 |
= 7
3 =3
LR
_ .| B
B RELIE 1B
$% S45C CHUIL & (1 13/ /5 — 5 —4032) - 118
BBy TV A v X | AANMEEERIL b(SCM435/=fi7 0% — b) 17
IZNO)
BEAL imm
L
| L1
A BRI
3 =
23 ) E— =
<
1 WA
N
B ! L2
M8 RENIE TE®
§% S45C .~ CEUIE o&s (1X 1080/ /85— H —40L38) --- 118

BERE= TV Ay X | RERMARIL S (SUSXMT) 17

o ﬁm;: / ;g o ik | eD1 | L | 2 | 138 |[HEELL s&(@ssg_ Y ';ﬁ;g"(;;
6000 | 10 | 26 | 8 | @ | 19 | 175 | 150 | 75 | 190 | M6éx25 | BB600OM-N | 580
6001 12 28 8 @ 22 175 15.0 75 19.0 M6X25 BB6001M-N 580
6002 | 15 | 32 | 9| @ | 25 | 185 | 160 | 115 | 200 | M8x30 | BB6002M-N | 690
6003 | 17 | 35 | 10 | @ | 30 | 195 | 170 | 105 | 21.0 | M8x30 | BB6003M-N | 870
6004 20 42 12 @) 30 21.5 19.0 125 - M8x25 BB6004M-N 920
6005 25 47 12 ® 15 21.5 19.0 14.5 = M10Xx25 BB6005M-N 1,160
6006 | 30 | 55 | 13 | @ | 45 | 225 | 200 | 135 | — | M10x25 | BB6006M-N | 1,620
6007 | 35 | 62 | 14 | @ | 50 | 235 | 210 | 1256 | — | M10x25 | BB6007M-N | 1,850
6200 | 10 | 30 | 9| @ | 22 | 185 | 160 | 65 | 200 | M6x25 | BB6200M-N | 580
6201 12 32 10 @ 22 19.5 17.0 55 21.0 M6X25 BB6201M-N 580
6202 | 15 | 35 | 11 | @ | 25 | 205 | 180 | 95 | 220 | M8x30 | BB6202M-N | 690
6203 | 17 | 40 | 12 | @ | 30 | 210 | 185 | 90 | 225 | M8x30 | BB6203M-N | 870
6204 | 20 | 47 | 14 | @ | 35 | 235 | 210 | 105 | — | M8x25 | BB6204M-N | 1,100
6205 25 52 15 ® 40 24.5 22.0 115 — M10Xx25 BB6205M-N 1,220
6206 | 30 | 62 | 16 | @ | 45 | 255 | 230 | 155 | — | M10x30 | BB6206M-N | 1,740
6207 | 35 | 72 | 17 | @ | 55 | 265 | 240 | 145 | — | M10x30 | BB6207M-N | 2,260

MKARBFZICIE, XTULTEHBLTEYEE A

/]
’

iwata





